

## ON THE WEAK CONVERGENCE OF MEASURES ( I )

By TAKUMA KINOSHITA

*Kagoshima University*

§ 1. **Introduction.** In this paper we shall investigate the weak convergence of measures. Yu. V. Prohorov, and Robert Bartoszyński have shown many conditions for the weak convergence of measures in separable and complete metric spaces, which are expressed in terms of convergence of measures generated in finite dimensional Euclidean spaces. In what follows  $R$  will denote a complete separable metric space and  $C(R)$  the totality of functionals  $f(x)$  which are continuous and bounded on  $R$ . Denote by  $M(R)$  the space of all finite measures defined on the Borel  $\sigma$ -field of subsets of  $R$ . A sequence  $\mu_n$  of element of  $M(R)$  will be called weakly convergent to  $\mu \in M(R)$  if for every bounded and continuous function  $f(x)$  on  $R$

$$(1.1) \quad \lim_{n \rightarrow \infty} \int_R f(x) \mu_n(dx) = \int_R f(x) \mu(dx).$$

Weak convergence of  $\mu_n$  to  $\mu$  is denoted by the symbol  $\mu_n \Rightarrow \mu$ . Let  $F$  be any closed set. Denote by  $F^\varepsilon$  the open set  $S(F, \varepsilon)$ . Define the numbers  $\varepsilon_{1,2}, \varepsilon_{2,1}$  as the greatest lower bound of those  $\varepsilon$  for which, for all closed set  $F \subset R$ ,  $\mu_1(F) \leq \mu_2(F^\varepsilon) + \varepsilon$ , respectively  $\mu_2(F) \leq \mu_1(F^\varepsilon) + \varepsilon$ . Let

$$(1.2) \quad L(\mu_1, \mu_2) = \max_{\varepsilon} (\varepsilon_{1,2}, \varepsilon_{2,1}).$$

The following Theorem can be found in [1],[2].

**THEOREM.** The function  $L$ , defined by (1.2), is a metric in the space  $M(R)$ , and the conditions  $\mu_n \Rightarrow \mu_0$  and  $L(\mu_n, \mu_0) \rightarrow 0$  are equivalent. Moreover,  $M(R)$  with the metric  $L$  is a complete separable space.

We shall first introduce some elementary facts.

## § 2. Some elementary facts

**THEOREM 1.** Let  $\mu_n^{(k)} \in M(R)$  ( $k=1, 2, \dots, m; n=0, 1, 2, \dots$ ). If  $\lim_{n \rightarrow \infty} L(\mu_n^{(k)}, \mu_0^{(k)}) = 0$

and  $\{c_1, c_2, \dots, c_m\}$  is a finite set of positive real numbers, then,  $\lim_{n \rightarrow \infty} L(\sum_{k=1}^m c_k \mu_n^{(k)}, \sum_{k=1}^m c_k \mu_0^{(k)}) = 0$ .

**PROOF.** Let  $\max (L(\mu_n^{(1)}, \mu_0^{(1)}), L(\mu_n^{(2)}, \mu_0^{(2)}), \dots, L(\mu_n^{(m)}, \mu_0^{(m)})) = \varepsilon$ , then, for all closed set  $F \subset R$

$$\sum_{k=1}^m c_k \mu_n^{(k)}(F) = \sum_{k=1}^m c_k \mu_n^{(k)}(F) \leq \sum_{k=1}^m c_k (\mu_0^{(k)}(F^\varepsilon) + \varepsilon) = \sum_{k=1}^m c_k \mu_0^{(k)}(F^\varepsilon) + \varepsilon \sum_{k=1}^m c_k \text{ and } \sum_{k=1}^m c_k \mu_0^{(k)}(F) \leq \sum_{k=1}^m c_k \mu_n^{(k)}$$

$$(F^\varepsilon) + \varepsilon \sum_{k=1}^m c_k,$$

on the other hand we have 
$$\left(\sum_{k=1}^m C_k \mu_n^{(k)}(F)\right) \leq \left(\sum_{k=1}^m C_k \mu_0^{(k)}(F\varepsilon')\right) + \varepsilon' = \sum_{k=1}^m C_k \mu_0^{(k)}(F\varepsilon') + \varepsilon'$$

$$\text{and } \left(\sum_{k=1}^m C_k \mu_0^{(k)}(F)\right) \leq \sum_{k=1}^m C_k \mu_n^{(k)}(F\varepsilon'') + \varepsilon''.$$

If we write  $\varepsilon'_0$  = the greatest lower bound of those  $\varepsilon'$ ,

and  $\varepsilon''_0$  = the greatest lower bound of those  $\varepsilon''$ ,

$$\text{then, } L\left(\sum_{k=1}^m C_k \mu_n^{(k)}, \sum_{k=1}^m C_k \mu_0^{(k)}\right) = \max(\varepsilon'_0, \varepsilon''_0) \leq \max(\varepsilon, \varepsilon \sum_{k=1}^m C_k),$$

hence 
$$\lim_{n \rightarrow \infty} L\left(\sum_{k=1}^m C_k \mu_n^{(k)}, \sum_{k=1}^m C_k \mu_0^{(k)}\right) = 0.$$

**COROLLARY.** *If  $\lim_{n \rightarrow \infty} L(\mu_n, \mu_0) = 0$  and  $\lim_{n \rightarrow \infty} L(\nu_n, \nu_0) = 0$ ,*

*then  $\lim_{n \rightarrow \infty} L(\mu_n + \nu_n, \mu_0 + \nu_0) = 0$ . (That is to say  $\mu_n + \nu_n \Rightarrow \mu_0 + \nu_0$ ).*

**THEOREM 2.** *If  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0) < \infty$ , then  $\mu_n \Rightarrow \mu_0$ .*

**PROOF.** *If  $\sum L(\mu_n, \mu_0) < \infty$ , then  $L(\mu_n, \mu_0) \rightarrow 0$ ;*  
the desired result follows from Theorem of § 1.1

**THEOREM 3.** *If  $\sum_{n=1}^{\infty} L(\mu_n, \mu) < \infty$  and  $\sum_{n=1}^{\infty} L(\mu_n, \nu) < \infty$  then  $\mu \equiv \nu$ .*

To prove this Theorem we need the following lemma. [1].

**LEMMA.** Let  $\mu_1, \mu_2$  and  $\mu_3$  be elements of  $M(R)$ . Then

- (a)  $L(\mu_1, \mu_2) \geq 0$ ,  $L(\mu_1, \mu_1) = 0$ , and  $L(\mu_1, \mu_2) = L(\mu_2, \mu_1)$ .
- (b)  $L(\mu_1, \mu_3) \leq L(\mu_1, \mu_2) + L(\mu_2, \mu_3)$ .
- (c) *If  $L(\mu_1, \mu_2) = 0$ , then  $\mu_1 \equiv \mu_2$ .*

**PROOF** of THEOREM 3. If  $\sum L(\mu_n, \mu) < \infty$ , and  $\sum L(\mu_n, \nu) < \infty$ , then  $L(\mu_n, \mu) \rightarrow 0$  and  $L(\mu_n, \nu) \rightarrow 0$ , respectively.

By Lemma  $L(\mu, \nu) \leq L(\mu, \mu_n) + L(\mu_n, \nu)$ ,

hence  $L(\mu, \nu) \leq \lim L(\mu, \mu_n) + \lim L(\mu_n, \nu) = 0$ ,

$$L(\mu, \nu) = 0, \mu \equiv \nu. \mid$$

**THEOREM 4.** *If  $\sum_{n=1}^{\infty} L(\mu_n, \mu) < \infty$  and  $L(\mu, \nu) = 0$ , then  $\sum_{n=1}^{\infty} L(\mu_n, \nu) < \infty$ .*

**PROOF.** Since, for every positive integers n,

$$L(\mu_n, \nu) \leq L(\mu_n, \mu) + L(\mu, \nu) = L(\mu_n, \mu),$$

therefore  $\sum L(\mu_n, \nu) \leq \sum L(\mu_n, \mu) < \infty. \mid$

From Theorem 2, we may investigate the convergence of  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  instead of  $\mu_n \Rightarrow \mu_0$ .

We shall describe some theorems below and the proofs of these theorems are omitted, since they can be found in books of series, for instance [5].

**THEOREM 5.** *If  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  is convergent series, then so is  $\sum_{n=1}^{\infty} \alpha_n L(\mu_n, \mu_0)$ , if the*

factors  $\alpha_n$  satisfy the inequalities  $0 < \alpha_n \leq k$  for every  $n$ .

**THEOREM 6.** Let  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  and  $\sum_{n=1}^{\infty} L(\nu_n, \nu_0)$  be two series. If  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  and  $\sum_{n=1}^{\infty} L(\nu_n, \nu_0)$  satisfy, for every  $n > a$  number  $m$ ,

(a) the condition  $L(\mu_n, \mu_0) \leq L(\nu_n, \nu_0)$ ,

(b) and speaking generally  $L(\mu_n, \mu_0) \leq c L(\nu_n, \nu_0)$  ( $c$ ; positive constant) then, the series  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  is convergent, when the series  $\sum_{n=1}^{\infty} L(\nu_n, \nu_0)$  is convergent.

**THEOREM 7.** The two series  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  and  $\sum_{n=1}^{\infty} L(\nu_n, \nu_0)$  are either both convergent or both divergent provided  $\lim_{n \rightarrow \infty} \frac{L(\mu_n, \mu_0)}{L(\nu_n, \nu_0)} \neq 0, \infty$  exists.

**THEOREM 8.**  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0)$  is convergent when  $\overline{\lim}_{n \rightarrow \infty} \sqrt{L(\mu_n, \mu_0)}$  or  $\overline{\lim}_{n \rightarrow \infty} \frac{L(\mu_{n+1}, \mu_0)}{L(\mu_n, \mu_0)} < 1$ .

### § 3. Equivalence relations and continuous mappings

In order to continue our study, we introduce the following definition.

**DEFINITION 1.** Two sequences  $\{\mu_n\}$  and  $\{\nu_n\}$  of point of  $M(R)$  are equivalent

if  $\sum_{n=1}^{\infty} L(\mu_n, \nu_n) < \infty$ .

**THEOREM 9.** Let  $M(R)$  be a metric space with the metric  $L$ , then

- (1) Any sequence of  $M(R)$  is equivalent to itself.
- (2) If  $\{\mu_n\}$  and  $\{\nu_n\}$  are sequences of  $M(R)$ , then  $\{\mu_n\}$  is equivalent to  $\{\nu_n\}$  if and only if  $\{\nu_n\}$  is equivalent to  $\{\mu_n\}$ .
- (3) Let  $\{\mu_n\}$ ,  $\{\nu_n\}$ ,  $\{\lambda_n\}$  be sequences of  $M(R)$ . If  $\{\mu_n\}$  is equivalent to  $\{\nu_n\}$  and  $\{\nu_n\}$  is equivalent to  $\{\lambda_n\}$ , then  $\{\mu_n\}$  is equivalent to  $\{\lambda_n\}$ .

**PROOF.** From the definition  $L(\mu_n, \nu_n) = \max(\varepsilon_{\mu_n, \nu_n}, \varepsilon_{\nu_n, \mu_n})$  where  $\varepsilon_{\mu_n, \nu_n}$  = the greatest lower bound of  $\varepsilon$ , that for all closed  $F \subset R$ , we have

$$\mu_n(F) \leq \nu_n(F^\varepsilon) + \varepsilon,$$

and  $\varepsilon_{\nu_n, \mu_n}$  = the greatest lower bound of  $\varepsilon$ , that for all closed  $F \subset R$ , we have

$$\nu_n(F) \leq \mu_n(F^\varepsilon) + \varepsilon,$$

hence (1)  $L(\mu_n, \mu_n) = 0$  ( $n=1, 2, \dots$ ), therefore  $\sum_{n=1}^{\infty} L(\mu_n, \mu_n) = 0$ .

(2) If  $\sum L(\mu_n, \nu_n) < \infty$ , then  $\sum L(\nu_n, \mu_n) = \sum L(\mu_n, \nu_n) < \infty$ , and conversely.

(3) If  $\sum L(\mu_n, \nu_n) < \infty$  and  $\sum L(\nu_n, \lambda_n) < \infty$ , then, by the triangle property  $L(\mu_n, \lambda_n) \leq L(\mu_n, \nu_n) + L(\nu_n, \lambda_n)$  we have  $\sum L(\mu_n, \lambda_n) \leq \sum L(\mu_n, \nu_n) + \sum L(\nu_n, \lambda_n) < \infty$ .

**THEOREM 10.** Let  $M(R)$  be a metric space with the metric  $L$  and  $\mu \in M(R)$ .

If  $\sum_{n=1}^{\infty} L(\mu_n, \mu) < \infty$ , then  $\sum_{n=1}^{\infty} L(\nu_n, \mu) < \infty$  if and only if  $\sum_{n=1}^{\infty} L(\mu_n, \nu_n) < \infty$ .

**PROOF.** If  $\sum L(\mu_n, \mu) < \infty$  and  $\sum L(\nu_n, \mu) < \infty$ , then  $\sum L(\mu_n, \nu_n) \leq \sum L(\mu_n, \mu) + \sum L(\nu_n, \mu) < \infty$ ,

conversely, if  $\sum L(\mu_n, \nu_n) < \infty$ ,  $\sum L(\mu_n, \mu) < \infty$ ,  
then  $\sum L(\nu_n, \mu) \leq \sum L(\nu_n, \mu_n) + \sum L(\mu_n, \mu) < \infty$ . |

**THEOREM 11.** *Let  $M(R)$  be a metric space with the metric  $L$  and  $\mu \in M(R)$ . If  $\{\mu_n\}$  is equivalent to  $\{\nu_n\}$ , then  $\mu_n \Rightarrow \mu$  if and only if  $\nu_n \Rightarrow \mu$ .*

**PROOF.** If  $\mu_n \Rightarrow \mu$ , then, by Theorem of §1  $L(\mu_n, \mu) \rightarrow 0$ .

From hypothesis,  $\sum L(\mu_n, \nu_n) < \infty$ , therefore,

$$L(\nu_n, \mu) \leq L(\nu_n, \mu_n) + L(\mu_n, \mu),$$

$$\lim L(\nu_n, \mu) \leq \lim L(\nu_n, \mu_n) + \lim L(\mu_n, \mu) = 0,$$

hence  $\nu_n \Rightarrow \mu$ .

conversely, if  $\nu_n \Rightarrow \mu$ , then

$$L(\mu_n, \mu) \leq L(\mu_n, \nu_n) + L(\nu_n, \mu)$$

$$\lim L(\mu_n, \mu) \leq \lim L(\mu_n, \nu_n) + \lim L(\nu_n, \mu) = 0,$$

hence  $\mu_n \Rightarrow \mu$ . |

Let  $R^*$  be a complete separable metric space and let  $\mu \in M(R)$ . If  $f$  is a continuous function mapping  $R$  into  $R^*$ , then, the condition  $\mu^f(A) = \mu\{f^{-1}(A)\}$  for the  $\mu$ -measurable  $f^{-1}(A)$  defines the measure  $\mu^f \in M(R^*)$ . PROHOROV has introduced the following theorem. [1]. (We shall write BARTOSZYNSKI's form [2]).

**THEOREM.** The condition  $\mu_n \Rightarrow \mu_0$  holds if and only if for every real  $\mu$ -almost everywhere continuous function  $f$  on  $R$  we have  $\mu_n^f \Rightarrow \mu_0^f$ .

We shall introduce the notion of a continuity in the sense of the weak convergence of measures.

**DEFINITION 2.** *Let  $f: R \rightarrow R^*$  be a continuous mapping, and  $\mu_0$  a point of  $M(R)$ . Then  $f$  is continuous (type 1) in the sense of the weak convergence of measures at the point  $\mu_0$  if and only if given any sequence  $\{\mu_n\}$  of points of  $M(R)$  satisfying  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0) < \infty$ , the*

*sequence  $\{\mu_n^f\}$  satisfies  $\sum_{n=1}^{\infty} L(\mu_n^f, \mu_0^f) < \infty$ . The mapping  $f$  is continuous in the sense of the weak convergence of measures if and only if  $f$  is continuous at the point  $\mu$  for every  $\mu$  in  $M(R)$ .*

From the definition of metric  $L$ , for  $f$  is continuous in the sense of the weak convergence of measures, it is sufficient that, for all closed set  $A \subset R^*$ ,  $(f^{-1}(A))^c \subset f^{-1}(A^c)$ .

**Example.** The mapping  $f: R \rightarrow R$  defined by  $f(x) = x$  for every  $x \in R$  is clearly continuous (type 1) in the sense of the weak convergence of measures.

**THEOREM 12.** *Let  $f: R \rightarrow R^*$  be a continuous mapping (type 1) in the sense of the weak convergence. If  $\sum_{n=1}^{\infty} L(\mu_n, \mu_0) < \infty$ , and  $\sum_{n=1}^{\infty} L(\nu_n, \mu_0) < \infty$ , then  $\{\mu_n^f\}$  and  $\{\nu_n^f\}$  are equivalent.*

**PROOF.** If  $\sum L(\mu_n, \mu_0) < \infty$ ,  $\sum L(\nu_n, \mu_0) < \infty$  and  $f$  is a continuous (type 1) in the sense of the weak convergence of measures, then  $\sum L(\mu_n^f, \mu_0^f) < \infty$  and  $\sum L(\nu_n^f, \mu_0^f) < \infty$ . An application of Theorem 10 completes the proof. |

**DEFINITION 3.** *Let  $f: R \rightarrow R^*$  be a continuous mapping, and  $\mu_0$  a point of  $M(R)$ . Then*

$f$  is continuous (type 2) in the sense of the weak convergence of measures at point  $\mu_0$  if and only if, given any sequence  $\{\mu_n\}$  of points of  $M(R)$  satisfying  $\lim_{n \rightarrow \infty} L(\mu_n, \mu_0) = 0$ , the

sequence  $\{\mu_n^f\}$  satisfies  $\sum_{n=1}^{\infty} L(\mu_n^f, \mu_0^f) < \infty$ . The mapping  $f$  is continuous (type 2) in the sense of the weak convergence of measures if and only if  $f$  is continuous at the point  $\mu$  for every  $\mu$  in  $M(R)$ .

**THEOREM 13.** Let  $f: R \rightarrow R^*$  be a continuous mapping (type 2) in the sense of the weak convergence of measures and  $\mu_0$  a point of  $M(R)$ . Then, if  $L(\mu_n, \mu_0) \rightarrow 0$ ,  $\mu_n^f \Rightarrow \mu_0^f$ .

**PROOF.** If  $L(\mu_n, \mu_0) \rightarrow 0$ , then by hypothesis,  $\sum L(\mu_n^f, \mu_0^f) < \infty$ , and therefore,  $L(\mu_n^f, \mu_0^f) \rightarrow 0$ , by Theorem of §1,  $\mu_n^f \Rightarrow \mu_0^f$ . |

**THEOREM 14.** If  $f$  is a continuous mapping (type 2), then  $f$  is a continuous mapping (type 1).

**PROOF.** If  $\sum L(\mu_n, \mu_0) < \infty$  then  $\lim L(\mu_n, \mu_0) = 0$ , by hypothesis,  $\lim L(\mu_n, \mu_0) = 0$  implies  $\sum L(\mu_n^f, \mu_0^f) = 0$ . This implies that  $f$  is a continuous mapping (type 1). |

**DEFINITION 4.** Two continuous mappings  $f$  and  $g$  are called equivalent in the sense of the weak convergence of measures if  $\sum_{n=1}^{\infty} L(\mu_n^f, \mu_n^g) < \infty$  for any sequence  $\{\mu_n\}$ .

**THEOREM 15.** Let  $f, g$  and  $h$  are continuous mappings, then

- (1)  $f$  is equivalent to itself.
- (2)  $f$  is equivalent to  $g$  if and only if  $g$  is equivalent to  $f$ .
- (3) If  $f$  is equivalent to  $g$  and  $g$  is equivalent to  $h$ , then  $f$  is equivalent to  $h$ .

**PROOF.** (1) and (2) are obvious. To prove (3), we denote that

$$L(\mu_n^f, \mu_n^h) \leq L(\mu_n^f, \mu_n^g) + L(\mu_n^g, \mu_n^h). \text{ From the definition}$$

$$L(\mu_n^f, \mu_n^g) = \max(\varepsilon_{f,g}, \varepsilon_{g,f}), \text{ where}$$

$\varepsilon_{f,g}$  = the greatest lower bound of those  $\varepsilon$ , that for all closed set  $F \subset R$ , we have

$$\mu_n^f(F) \leq \mu_n^g(F^\varepsilon) + \varepsilon,$$

and  $\varepsilon_{g,f}$  = the greatest lower bound of those  $\varepsilon$ , that for all closed set  $F \subset R$ , we have

$$\mu_n^g(F) \leq \mu_n^f(F^\varepsilon) + \varepsilon.$$

Similarly,  $L(\mu_n^g, \mu_n^h) = \max(\varepsilon_{g,h}, \varepsilon_{h,g})$ , where,  $\varepsilon_{g,h}$  and  $\varepsilon_{h,g}$  denote the greatest lower bound of those  $\varepsilon$ , that for every closed set  $F \subset R$  we have  $\mu_n^g(F) \leq \mu_n^h(F^\varepsilon) + \varepsilon$  and  $\mu_n^h(F) \leq \mu_n^g(F^\varepsilon) + \varepsilon$  respectively, and moreover  $L(\mu_n^f, \mu_n^h) = \max(\varepsilon_{f,h}, \varepsilon_{h,f})$ , where  $\varepsilon_{f,h}$  and  $\varepsilon_{h,f}$  denote the greatest lower bound of those  $\varepsilon$ , that for every closed set  $F \subset R$  we have

$$\mu_n^f(F) \leq \mu_n^h(F^\varepsilon) + \varepsilon \text{ and } \mu_n^h(F) \leq \mu_n^f(F^\varepsilon) + \varepsilon \text{ respectively.}$$

$$\text{Hence } \mu_n^f(F) \leq \mu_n^g(F^{\varepsilon_{f,g}}) + \varepsilon_{f,g} \leq \mu_n^h(\overline{F^{\varepsilon_{f,g}}}) + \varepsilon_{f,g} \leq \mu_n^h(\overline{F^{\varepsilon_{f,g}}})^{\varepsilon_{g,h}} + \varepsilon_{f,g} + \varepsilon_{g,h}$$

$$\begin{aligned} &\leq \mu_n^h(F^{\varepsilon_{f,g} + \varepsilon_{g,h}}) + \varepsilon_{f,g} + \varepsilon_{g,h}, \\ \varepsilon_{f,h} &\leq \varepsilon_{f,g} + \varepsilon_{g,h}, \end{aligned}$$

similarly  $\varepsilon_{h,f} \leq \varepsilon_{g,f} + \varepsilon_{h,g}$ ,

From those equations, we have

$$\max(\varepsilon_{f,h}, \varepsilon_{h,f}) \leq \max(\varepsilon_{f,g}, \varepsilon_{g,f}) + \max(\varepsilon_{g,h}, \varepsilon_{h,g})$$

namely,  $L(\mu_n^f, \mu_n^h) \leq L(\mu_n^f, \mu_n^g) + L(\mu_n^g, \mu_n^h)$

and hence  $\sum L(\mu_n^f, \mu_n^h) \leq \sum L(\mu_n^f, \mu_n^g) + \sum L(\mu_n^g, \mu_n^h) < \infty$ .

**THEOREM 16.** *If  $f$  and  $g$  are continuous (type 1 or type 2) at  $\mu_0 \in M(R)$ , and equivalent, then  $\mu_0^f = \mu_0^g$ .*

**PROOF.** By hypothesis, if  $\sum L(\mu_n, \mu_0) < \infty$  (or  $\lim L(\mu_n, \mu_0) = 0$ ), then  $\sum L(\mu_n^f, \mu_0^f) < \infty$ ,  $\sum L(\mu_n^g, \mu_0^g) < \infty$ , and  $\sum L(\mu_n^f, \mu_n^g) < \infty$ ; hence  $L(\mu_0^f, \mu_0^g) \leq L(\mu_n^f, \mu_0^f) + L(\mu_n^f, \mu_n^g) + L(\mu_n^g, \mu_0^g) \rightarrow 0$

$$L(\mu_0^f, \mu_0^g) = 0, \quad \text{we have } \mu_0^f = \mu_0^g.$$

#### REFERENCES

- [1] Yu. V. PROKHOROV, "Convergence of random processes and limit theorems in probability theory" (in Russian, English summary), *Teor. Veroyatnost. i Primenen.*, Vol.1 (1956), pp. 177—238.
- [2] R. BARTOSZYNSKI "A characterization of the weak convergence of measures", *Ann. Math. Stat.*, Vol.32 (1961) pp. 561—576.
- [3] B. V. GNEDENKO and A. N. KOLMOGOROV, *Limit Distributions for Sums of Independent Random Variables*, Addison-Wesley, Cambridge, Mass., 1954.  
(Б. В. Гнеденко, А. Н. Колмогоров, Предельные Распределения для Сумм Независимых Случайных Величин, ГТТИ, 1949.)
- [4] PAUL R. HALMOS, *Measure Theory*, D. Von Nostrand, New York, 1950.
- [5] DR, K, KNOPP. *Theory and Application of Infinite Series*, 1928.
- [6] D. W. HALL and G. L. SPENCER II, *Elementary Topology*, 1955.
- [7] I. P. NATANSON, *Theory of Functions of a Real Variable*, 1949.